Unit 1 Review
1. Describe the proper way to smeli a substance in the laboratory
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2. Why is safety important in the lab?
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3. True/FgISe> Acid should always be diluted by adding water to large volumes of acid and stirring
quickly. ADE A T9  WaATEL

4. Three different people weigh a standard mass on the same balance. Each person records a
mass of 3.40g. The accepted mass is 9.2 g. This demonstrates-

A. accuracy and precision C. accuracy but not precision
recision but not accuracy D. neither accuracy nor precision
5. Convert to scientific notatjson. Remember significant figures. 3
1890g [.39 X+ 0 5 0.00134 cm .39 v 0 e~
98,200 mg ___ 1.X2 x 0 way -0.000573mm _ - S. %3 X 10 ' mmm
56280 mi 5,.L2% mo”"»-f -0.00000005m - S %10 % m
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6. Convert to standard notation. Remember significant figures.
4.78x103km _0.004FY¥  ¥w 5.50x10°mi $,500000000m,
-9.4xI0°g __~ 940000 a 8.32x10°mm ©.000§32 mw
7. How many significant figures are in the following values?
a)0.0001 ) b)4009 4 ¢)100.00 S d)3400__2 e)0.0501 __ 3

8. Perform the following calculations and report your answer using the correct number of
significant figures:
a)0.001+45.6 _UuS.\ b) 4008 + 34.99 _4oyz3 ¢)500.0-12.13 9¥ 3.9



Use the following conversion factors to complete these problems. Report your answer using the
correct number of significant figures (Remember: Conversion factors don't affect sig figs)

60 s =1 min 1 hr = 60 min 1.6 km = 1 mile 22lbs=1kg
100cm=1m 1,000 m =1 km 0.26gallons=11L 365 days = 1 year
1 mile = 1760 yds 2000 lbs = 1 ton 24 hr = 1 day

9. Find the mass in pounds of a 68 kilogram person
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10. Find the volume in [jters of 3 gallons of soda
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11. Find the length of a 100-yard football field in kilometers
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12. Calculate the length of a 5-minute passing period in years
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13. The whole number that appears before an element or formula in an equation is called a:
a) subscript b) superscript F@ d) denominator
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14. The whole number that appears next to, but smaller and slightly below, an element or
formula in an equation is called a:
ﬁa) subscriptl b) superscript c) coefficient d} denominator

15. How many oxygen atoms would be found in one formula unit (molecule) of the following:
Alz(Cr207)3

a. 1 b. 3 c. 7 d. 10 ]e. 21}

16. How many moles of oxygen atoms would be found in one mole of the following: Alz(CrZO_‘,)3

a. 1 b. 3 c. 7 d. 10 le. 215
17. What is the molar mass (gram formula mass) of nitroglycerin? CaHs(Noa)a?
a. 165 g/mol } b. 227 g/mol ¢. 309 g/mol d. 199 g/mol e. none
3(17.e “) + (S 1-00g) * £3. .007) + (a- M..oo\ : 797,094
18. What is the molar mass (gram formula mass) of sodium phosphate, NazP04? {Include units})

3(3) + 30.47F + '1('5-“) = 13,99 Dlmnl




©

19. What is the molar mass (gram formula mass} of FeClz * 5H20? (Hint: need to add the mass of
S waters to the mass of FeCl, include units)

55.35 + 'S(sswc) \ /o(f-oosﬁ - S(u-) = /;;_‘:jgjf_"_’.l-

20. What is Avogadro’s number? What does it describe?
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21. Lead nitrate, Pb(NOs)s, is used for match manufacturing and for making explosives. If 45.8
grams of lead (IV) nitrate, Pb{NO3)s, are required to make one case of matches, how many moles

are needed? ) Pb (e [masl Phim =
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Answer the following questions regarding the following reaction:

Cu +2 AgNOs = Cu(NOs), + 2 Ag

22. What is the mole ratio of copper, Cu, metal to silver metal, Ag, in the above reaction?
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23. IfE.O moles of coppellare reacted with excess sifver nitrate AgNO3, how many moles of silver
are produced?
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24. IfB.10 grams of copper nitrate, Cu(NOsl,\have been produced, how many grams of silver
nitrate, AgNO3, must have reacted? -
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25. If ﬁ.OO grams of silver nitrate, AgN03,\react with excess copper metal, how many formula
units of copper nitrate, Cu(NO;)z are produced?
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a. How many atoms of oxygen are produced?
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26. What mass of carbon dioxide, CO2, will be formed if 50.0g of C3Hz (propane) gas are burned in
in excess of pure oxygen at STP?
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27. From the above reaction, if the percent yield for carbon dioxide for this reaction is 85.0%,
how much carbon dioxide was produced?
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28. Classify the following reaction types.
a. 2Na+CaF; > Ca + 2NaF SR

b. 2Na+F; = 2NaF Se e
c. 2AgF+CaCl;~> 2AgCl+CaF, PY-
d. CiHs+30;=> 2€C0;+ 2H;0 Can~b,

e. KS> 2K+ S Deeoant

f. 0:+2Mg—> 2MgO SH om cami,
g. 3Mg+2AIBr; > 3MgBr; + 2Al S4.
Coms,

h. 2CHsD +90; 2> 4C0; + 12H;0
i. Li;SOs+MgCl, > MgS0, + 2LiCI D&

j.  2KCIO3 = 2KC +30; Vevom P,



